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1. P is a point on the line segment joining the

points (3, 2, – 1) and (6, 2, - 2). If x co-ordinate

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4nke02n76W4H


of P is 5, then its y co-ordinate is :

A. 2

B. 1

C. 

D. 

Answer: A

Watch Video Solution

−1

−2

https://dl.doubtnut.com/l/_4nke02n76W4H


2. A line makes equal angles with coordinate

axes. Direction cosines of this line are :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

± < 1, 1, 1 >

± < , , >
1

√3

1

√3

1

√3

± < , , , >
1

3

1

3

1

3

± < , − , >
1

√3

1

√3

−1

√3

https://dl.doubtnut.com/l/_pz6dJNQPZ2gj
https://dl.doubtnut.com/l/_TzvSQBERQtJz


3. The sine of the angle between the straight

the  and the plane 

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

= =
x − 2

3

3 − y

−4
z − 4

5

2x − 2y + z = 5

10

6√5

4

5√2

2√3

5

√2

10

https://dl.doubtnut.com/l/_TzvSQBERQtJz
https://dl.doubtnut.com/l/_vtTJaxtN8oJQ


4. Reflection of the point  in XY plane

is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(α, β, γ)

(α, β, 0)

(0, 0, γ)

( − α, − β, γ)

(α, β, − γ)

https://dl.doubtnut.com/l/_vtTJaxtN8oJQ


5. The area of the quadrilateral ABCD, where A

(0, 4, 1), B (2, 3, - 1), C(4, 5, 6) and D (2, 6, 2) is

equal to :

A. 9 sq. units

B. 18 sq. units

C. 27 sq. units

D. 81 sq. units

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_UnRTsbQ0Wr15


6. The ratio in which the plane

 divides the line joining

the points -2i+4j+7k and 3i-5j+8k is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

→
r . (i − 2j + 3k) = 17

1: 5

1: 10

3: 5

3: 10

https://dl.doubtnut.com/l/_Yt9qGIfAbyoI


7. The length of the projection of the segment

joining  and  on the line

: 

 is :

A. 

B. 

C. 

D. None of these

(x1, y1, z1) (x2, y2, z2)

= =
x − α

l

γ − β

m

z − y

n

|l(x2 − x1) + m(y2 − y1) + n(z2 − z1)|

|α(x2 − x1) + β(y2 − y1) + γ(z2 − z1)|

∣
∣
∣

+ +
∣
∣
∣

x2 − x1

l

y2 − y1

m

z2 − z1

n

https://dl.doubtnut.com/l/_vXIFOa81IswL


Answer: A

View Text Solution

8. The lines  and 

 are :

A. perpendicular

B. intersecting

C. skew

D. parallel

= =
x − 1

2

y − 2

4

z − 3

7

= =
x − 1

4

y − 2

5

z − 3

7

https://dl.doubtnut.com/l/_vXIFOa81IswL
https://dl.doubtnut.com/l/_r9ZZ2BbEZE3S


Answer: B

View Text Solution

9. The points (5,-4,2),(4,-3,1),(7,-6,4),(8,-7,5) are

vertices of a:

A. Rhombus

B. Square

C. Parallelogram

D. Rectangle

https://dl.doubtnut.com/l/_r9ZZ2BbEZE3S
https://dl.doubtnut.com/l/_QvWTcLUL3Wfc


Answer: C

Watch Video Solution

10. Algebraic sum of the intercepts made by

the plane x+3y-4z + 6 = 0 on the axes is:

A. 

B. 

C. 

D. 

−
13

2

19

2

−
22

3

26

2

https://dl.doubtnut.com/l/_QvWTcLUL3Wfc
https://dl.doubtnut.com/l/_R1DON4jUYNOG


Answer: A

Watch Video Solution

11. The lines whose vector equations are: 

 are coplanar

if :

A. 

B. 

C. 

D. 

→
r =

→
a + t

→
b ,

→
r =

→
c + t'

→
d

(
→
a −

→
b ). (

→
c ×

→
d ) = 0

(
→
a −

→
c ). (

→
b ×

→
d ) = 0

(
→
b −

→
c ). (

→
a ×

→
d ) = 0

(
→
b −

→
d ). (

→
a ×

→
d ) = 0

https://dl.doubtnut.com/l/_R1DON4jUYNOG
https://dl.doubtnut.com/l/_QXA5kbZosBbH


Answer: B

View Text Solution

12. The point, which divides the line joining the

points (2, 4, 5) and (3, 5, -4) in the ratio - 2:3,

lies on:

A. XOY plane

B. YOZ plane

C. ZOX plane

D. None of these

https://dl.doubtnut.com/l/_QXA5kbZosBbH
https://dl.doubtnut.com/l/_zgeY4CFFRARh


Answer: B

Watch Video Solution

13. The ratio in which the line joining points (2,

4, 5), (3,5,- 4) is divided by yz-plane is :

A. 

B. 

C. 

D. 

4: 3

−2: 3

3: 2

2: 3

https://dl.doubtnut.com/l/_zgeY4CFFRARh
https://dl.doubtnut.com/l/_J7iKRaTrsnSt


Answer: B

Watch Video Solution

14. Volume of a tetrahedron is k area of one

face) (length of perpendicular from the

opposite vertex upon it). where k is :

A. 

B. 

C. 

D. 

1

4

1

3

1

6

1

2

https://dl.doubtnut.com/l/_J7iKRaTrsnSt
https://dl.doubtnut.com/l/_qFbiQG3qahjB


Answer: B

View Text Solution

15. The angle between pair of lines whose

direction-ratios are < 1, 1, 2 > and < 3-1,- -1,4 >

is:

A. 

B. 

C. 

D. 

√3

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_qFbiQG3qahjB
https://dl.doubtnut.com/l/_Dg0FXsjox9xb


Answer: C

Watch Video Solution

16. If a line makes angle  with the axes

respectively, then cos  =

A. 

B. 

C. 

D. 

α, β, γ

2α + cos 2β + cos 2γ

−2

−1

1

2

https://dl.doubtnut.com/l/_Dg0FXsjox9xb
https://dl.doubtnut.com/l/_OT1SPDgt93IB


Answer: B

Watch Video Solution

17. The direction-cosines of the normal to the

plane : 

x+2y - 3z + 4 = 0 are :

A. 

B. 

C. 

D. 

< , , >
1

√14

−2

√14

3

√14

< , , >
1

√14

2

√14

3

√14

< , , >
−1

√14

2

√14

3

√14

< , , >
1

√14

2

√14

−3

√14

https://dl.doubtnut.com/l/_OT1SPDgt93IB
https://dl.doubtnut.com/l/_5a6KDI5WJHxS


Answer: D

Watch Video Solution

18. What is the distance of the point (2,3,4)

from the plane 

A. 9

B. 10

C. 2

D. 1

3x − 6y + 2z + 11 = ?

https://dl.doubtnut.com/l/_5a6KDI5WJHxS
https://dl.doubtnut.com/l/_7kZRF3sBewPz


Answer: D

Watch Video Solution

19. The angle between the two planes 3x- 4y +

5z = 0 and 2x-y - 2z = 5 is :

A. 

B. 

C. 

D. 0

π/2

π/3

π/4

https://dl.doubtnut.com/l/_7kZRF3sBewPz
https://dl.doubtnut.com/l/_bRTR40ZS33jq


Answer: A

Watch Video Solution

20. The angle between the planes: 3x - 4y + 5z

= 0 and 2x-y-2z = 5 is:

A. 

B. 

C. 

D. None of these

π/4

π/2

π/3

https://dl.doubtnut.com/l/_bRTR40ZS33jq
https://dl.doubtnut.com/l/_zQSoAmpxcwUV


Answer: B

Watch Video Solution

21. The plane passing through the point (a, b,

c) and parallel to the plane x + y + z = 0 is:

A. ax + by + cz =0

B. x+y+z+a+b+c=0

C. x + y+z = a + b + c

D. None of these

https://dl.doubtnut.com/l/_zQSoAmpxcwUV
https://dl.doubtnut.com/l/_g0vve7Yj3Q0d


Answer: C

Watch Video Solution

22. A plane meets the coordinate axes at A, B,

C such that the centroid of the triangle is (3, 3,

3). The equation of the plane is :

A. 9x+9y+9z=1

B. x+y+z=3

C. 3x+3y+3z=1

D. x+y+z=9

https://dl.doubtnut.com/l/_g0vve7Yj3Q0d
https://dl.doubtnut.com/l/_lu1sV8GrAhoE


Answer: D

Watch Video Solution

23. The plane x- 2y +z-6 = 0 and the line

 are related as:

A. lies in the plane

B. at right, angles to plane

C. parallel to plane

D. meets the plane obliquely,

= =
x

1

y

2
z

3

https://dl.doubtnut.com/l/_lu1sV8GrAhoE
https://dl.doubtnut.com/l/_kv3XMbl14VI8


Answer: C

Watch Video Solution

24. The line  is

parallel to the plane

A. 2x+y-2z=0

B. x+y+z=0

C. 3x+4y+5z=7

D. 2x+3y+4z=0

= =
x − 2

3

y − 3

4
z − 4

5

https://dl.doubtnut.com/l/_kv3XMbl14VI8
https://dl.doubtnut.com/l/_8SCiHn5pZHz2


Answer: A

Watch Video Solution

25. A plane meets the coordinate axes in A, B, C

and  is the centroid of the triangle

ABC. then the equation of the plane is :

A. 

B. 

C. 

D. 

(α, β, γ)

αx + βy + γz = 1

+ + = 1
x

α

y

β

z

γ

+ + = 3
x

α

y

β

z

γ

+ + = 1
3x

α

3y

β

3z

γ

https://dl.doubtnut.com/l/_8SCiHn5pZHz2
https://dl.doubtnut.com/l/_IgBwAKDxGYIJ


Answer: C

Watch Video Solution

26. The distance between the parallel planes:

ax + by + cz + d = 0 and ax + by+ cz + d' =0 is :

A. 

B. 

C. 

D. None of these

d

√a2 + b2 + c2

|d + d' |

√a2 + b2 + c2

|d − d' |

√a2 + b2 + c2

https://dl.doubtnut.com/l/_IgBwAKDxGYIJ
https://dl.doubtnut.com/l/_DxTPFKoeYKjH


Answer: C

Watch Video Solution

27. In three dimensional space, the equation 3y

+ 4z = 0 represents :

A. a plane containing z-axis

B. a plane containing x-axis

C. a plane containing y-axis

D. a line with direction numbers lt 0,3,4 gt

https://dl.doubtnut.com/l/_DxTPFKoeYKjH
https://dl.doubtnut.com/l/_pRQ1zudN3miF


Answer: B

Watch Video Solution

28. The projection of segment [PQ] on the co-

ordinate planes are-9, 12, -8 respectively. The

direction-cosines of PQ are :

A. 

B. 

C. 

D. 

< , , >
−9

17

12

17

−8

17

< , , >
−9

289

12

289

−8

289

< , , >
−9

√17

12

√17

−8

√17

< − 9, 12, − 8 >

https://dl.doubtnut.com/l/_pRQ1zudN3miF
https://dl.doubtnut.com/l/_cVSK0Hl4bJ68


Answer: A

Watch Video Solution

29. If the planes x + 2y + kz = 0 and 2x+y - 2z = 0

are at rt. angles, then the value of k is:

A. 

B. 

C. 

D. 

−1/2

1/2

−2

2

https://dl.doubtnut.com/l/_cVSK0Hl4bJ68
https://dl.doubtnut.com/l/_ygy3kr22Ft9r


Answer: D

Watch Video Solution

30. The angle between two lines

 and 

 is :

A. 

B. 

C. 

D. 

= =
x + 1

2

y + 3

2
z − 4
−1

= =
x − 4

1

y + 4

2

z + 1

2

cos − 1( )
1

9

cos − 1( )
2

9

cos − 1( )
3

9

cos − 1( )
4
9

https://dl.doubtnut.com/l/_ygy3kr22Ft9r
https://dl.doubtnut.com/l/_v6lUq6FY8QeF


Answer: D

Watch Video Solution

31. The equations of the line through the point

(1, 2, 3) and parallel to the line

 are :

A. 

B. 

C. 

D. None of these

= =
x − 4

2

y + 1

−3

z + 10

6

= =
x − 4

1

y + 1

2

z + 10

3

= =
x − 1

2

y − 2

−3

z − 3

6

= =
x − 1

1

y − 2

2

z − 3

3

https://dl.doubtnut.com/l/_v6lUq6FY8QeF
https://dl.doubtnut.com/l/_P9wqBqZB1jKm


Answer: B

View Text Solution

32. The equation of the line joining the and

(-2,4,2) and (7,-2,5) are :

A. 

B. 

C. 

D. None of these

= =
x + 2

3

y − 4

−2

z − 2

1

= =
x

7

y

−2
z

5

= =
x

−2

y

4
z

2

https://dl.doubtnut.com/l/_P9wqBqZB1jKm
https://dl.doubtnut.com/l/_c8xKdqp6RWBe


Answer: A

Watch Video Solution

33. The lines  and 

 are :

A. at. rt. angles

B. skew

C. parallel

D. intersecting

= =
x − 1

1

y − 2

2

z − 3

3

= =
x

2

y + 2

2

z − 3

−2

https://dl.doubtnut.com/l/_c8xKdqp6RWBe
https://dl.doubtnut.com/l/_AZa6dK2p7bmr


Answer: A

View Text Solution

34. Lines  and 

 are parallel iff:

A.  for some real 

B.  is parallel to 

C.  is parallel to 

D. None of these

→
r =

→
a 1 + t

→
b 1

→
r =

→
a 2 + s

→
b 2

→
b 1 = λ

→
b 2 λ

→
b 2

→
a 2 −

→
a 1

→
b 1

→
a 2 −

→
a 1

https://dl.doubtnut.com/l/_AZa6dK2p7bmr
https://dl.doubtnut.com/l/_7ZoYwRXupysN


Answer: A

View Text Solution

35. Skew lines are :

A. non-coplanar lines

B. coplanar lines

C. perpendicular lines

D. parallel lines.

Answer: A

https://dl.doubtnut.com/l/_7ZoYwRXupysN
https://dl.doubtnut.com/l/_qTBZmrsxz74Z


Watch Video Solution

36. The projections of a line segment on x,y,z

axes are 12, 4, 3. The length and the direction-

cosines of the line segment are :

A. 

B. 

C. 

D. None of these

Answer: C

11, < , , >
12

11
14
11

3

11

19, < , , >
12

19
4
19

3

19

13, < , , >
12

13
4
13

3

13

https://dl.doubtnut.com/l/_qTBZmrsxz74Z
https://dl.doubtnut.com/l/_RANvjGTtDj8f


Watch Video Solution

37. Given the line

 and the plane

 , of the following

assertions, the only one that is always true is:

A. L is parallel to 

B. L is perpendicular to 

C. L lies in 

D. None of these.

L = = =
x − 1

3

y + 1

2

z − 3

−1

π : x − 2y − z = 0

π

π

π

https://dl.doubtnut.com/l/_RANvjGTtDj8f
https://dl.doubtnut.com/l/_NAoUukoXLGsf


Answer: C

Watch Video Solution

38. Equation of the line passing through (1, 1,1)

and perpendicular to 2x + 3y + z = 5 is:

A. 

B. 

C. 

D. 

= =
x − 1

−1

y − 1

1

z − 1

1

= =
x − 1

1

y − 1

3

z − 1

2

= =
x − 1

3

y − 1

3

z − 1

3

= =
x − 1

2

y − 1

3

z − 1

1

https://dl.doubtnut.com/l/_NAoUukoXLGsf
https://dl.doubtnut.com/l/_fCLrFEgjHMoB


Answer: D

Watch Video Solution

39. Three lines drawn from origin with

direction cosines

 are coplanar

iff : =0 since :

A. intersecting lines are coplanar

l1, m1, n1, l2, m2, n2, l3, m3, n3

∣
∣
∣
∣

l1 m1 n1

l2 m2 n2

l3 m3 n3

∣
∣

∣
∣

https://dl.doubtnut.com/l/_fCLrFEgjHMoB
https://dl.doubtnut.com/l/_6Muu7KLpQBSK


B. it is possible to find a line perpendicular

to all these lines

C. all lines pass through origin

D. None of these.

Answer: A

View Text Solution

40. The plane ax + by + cz = 1 meets the

coordinate axes in A, B, C. The centroid of the

triangle is :

https://dl.doubtnut.com/l/_6Muu7KLpQBSK
https://dl.doubtnut.com/l/_FrpobTxoHEa5


A. (3a,3b,3c)

B. 

C. 

D. 

Answer: D

Watch Video Solution

( , , )
a

3
b

3
c

3

( , , )
3

a

3

b

3

c

( , , )
1

3a

1

3b

1

3c

41. The equation of the plane containing the

line  is : 
= =
x − x1

l

y − y1

m

z − z1

n

https://dl.doubtnut.com/l/_FrpobTxoHEa5
https://dl.doubtnut.com/l/_CWCug6lXNNas


 ,

where :

A. 

B. al+bm+cn=0

C. 

D. 

Answer: B

Watch Video Solution

a(x − x1) + b(y − y1) + c(z − z1) = 0

ax1 + by1 + cz1 = 0

= =
a

l

b

m

c

n

lx1 + my1 + nz1 = 0

https://dl.doubtnut.com/l/_CWCug6lXNNas


42. The two lines : x+ay+b, z=cy+d, and x=a'y+b'

, z=c'y+d' will be perpendicular if and only if:

A. aa'+bb'+cc'=0

B. (a+a')(b+b')+(c+c')=0

C. aa'+cc'+1=0

D. aa'+bb'+cc'+1=0

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_N2uQIezkXCr8
https://dl.doubtnut.com/l/_ycSRHM6PbXXY


43. The line  lies

exactly on the plane 2x-4y+z=7 , then the value

of k is :

A. 7

B. 

C. 1

D. No real value

Answer: A

Watch Video Solution

= =
x − 4

1

y − 2

1

z − k

2

−7

https://dl.doubtnut.com/l/_ycSRHM6PbXXY
https://dl.doubtnut.com/l/_d8ctlk1vC9C5


44. A line makes some angle , with each of

the x and z-axis. If the angle , which it makes

with y-axis, is such that

 equals:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

θ

β

sin2 β = 3 sin2 θ, the cos2 θ

2

3

1

5

3

5

2

5

https://dl.doubtnut.com/l/_d8ctlk1vC9C5


45. Distance between two parallel planes: 2x +

y + 2z = 8 and 4x + 2y + 4z +5=0 is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3

2

5

2

7
2

9

2

https://dl.doubtnut.com/l/_d8ctlk1vC9C5
https://dl.doubtnut.com/l/_l3HKi7PL8i5X


46. The angle between the lines

 and  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x = 3y = − z 6x = − y = 04z

90∘

0∘

30∘

45∘

https://dl.doubtnut.com/l/_jSs6usNALTRy
https://dl.doubtnut.com/l/_rsaQ2nVCfYUq


47. The distance between the line :

 and

the plane  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

→
r . = 2 î − 2ĵ + 3k̂ + λ( î − ĵ − 4k̂)

→
r . ( î + 5ĵ + k̂) = 5

10

3√3

10

9

10

3

3

10

https://dl.doubtnut.com/l/_rsaQ2nVCfYUq
https://dl.doubtnut.com/l/_M1AqIDKzvkpe


48. The two lines x=ay+b, z=cy+d and x=a'y+b',

z=c'y+d' are perpendicular to each other if :

A. aa'+cc'=-1

B. aa'+cc'=1

C. 

D. 

Answer: A

Watch Video Solution

+ = − 1
a

a'

c

c'

+ = 1
a

a'

c

c'

https://dl.doubtnut.com/l/_M1AqIDKzvkpe


49. A plane passes through (1, - 2, 1) and is

perpendicular to the planes 2x - 2y +z = 0 and

x-y + 2z = 4. The distance of the plane from the

point (1, 2, 2) is:

A. 0

B. 1

C. 

D. 

Answer: D

Watch Video Solution

√2

2√2

https://dl.doubtnut.com/l/_fP0pJtDMXqde


Watch Video Solution

50. Let L be the line of intersection of the

planes: 

2x + 3y +z = 1 and x + 3y + 2z = 2. 

If L makes an angle  with the positive x-axis,

then cos  equals

A. 

B. 

C. 

D. 

α

α

1

2

1

1

√2

1

√3

https://dl.doubtnut.com/l/_fP0pJtDMXqde
https://dl.doubtnut.com/l/_jQ1ZxAqxSO8m


Answer: D

Watch Video Solution

51. The direction-ratios of the diagonal of a

cube, which joins the origin to the opposite

corner are (when the 3 concurrent edges of

the cube are coordinate axes):

A. 

B. 

C. 

< , , >
2

√3

2

√3

2

√3

< 1, 1, 1 >

< 2, − 2, 1 >

https://dl.doubtnut.com/l/_jQ1ZxAqxSO8m
https://dl.doubtnut.com/l/_er4dSLONyD85


D. 

Answer: B

Watch Video Solution

< 1, 2, 3 >

52. The angle between two diagonals of a cube

is

A. 

B. 

C. 

cos − 1( )
1

√3

cos − 1( )
1

3

π

4

https://dl.doubtnut.com/l/_er4dSLONyD85
https://dl.doubtnut.com/l/_hkYiwSzFk6aE


D. 

Answer: B

Watch Video Solution

π

3

53. The point equidistant from (a, 0, 0), (0, a,

0), (0, 0, a) and (0, 0, 0) is:

A. 

B. 

C. (a,a,a)

( , , )
a

3
a

3
a

3

( , , )
a

2
a

2
a

2

https://dl.doubtnut.com/l/_hkYiwSzFk6aE
https://dl.doubtnut.com/l/_xLxjtqhfQX60


D. (2a,2a,2a)

Answer: B

Watch Video Solution

54. If a plane meets coordinate axes in A, B, C

such that the centroid of the triangle is

, then equation of the plane is :

A. 

B. 

(1, k, k2)

x + ky + k2z = 3k2

k2x + ky + z = 3k2

https://dl.doubtnut.com/l/_xLxjtqhfQX60
https://dl.doubtnut.com/l/_WZsQYFQEkbbS


C. 

D. 

Answer: B

Watch Video Solution

x + ky + k2z = 3

k2x + ky + z = 3

55. The points (5, 2, 4), (6,-1, 2) and (8, -7, k) are

collinear if k is equal to :

A. 2

B. −1

https://dl.doubtnut.com/l/_WZsQYFQEkbbS
https://dl.doubtnut.com/l/_mxtE5LTHPjzH


C. 3

D. 

Answer: D

Watch Video Solution

−2

56. The direction ratios of a normal to the

plane thro' (1,0,0), (0, 1, 0), which makes an

angle of with  the plane x + y = 3 are :

A. 

π

4

< 1, √2, 1 >

https://dl.doubtnut.com/l/_mxtE5LTHPjzH
https://dl.doubtnut.com/l/_RrM04WR3pJEG


B. 

C. 

D. 

Answer: B

Watch Video Solution

< 1, 1, √2 >

< 1, 1, 2 >

< √2, 1, 1 >

57. The plane, which passes through the point

(3, 2, 0) and the line

 is := =
x − 3

1

y − 6

5
z − 4

4

https://dl.doubtnut.com/l/_RrM04WR3pJEG
https://dl.doubtnut.com/l/_HTIAGWfKkcSp


A. x- y+z=1

B. x + y + z = 5

C. x+2y – z = 1

D. 2x - y +z = 5.

Answer: A

Watch Video Solution

58. Two systems of rectangular axes have the

same origin. If a plane cuts them at distance a,

b,c and a',b',c' from the origin, then :

https://dl.doubtnut.com/l/_HTIAGWfKkcSp
https://dl.doubtnut.com/l/_5zjPvgOQhjNw


A. =0

B. =0

C. =0

D. =0

Answer: C

Watch Video Solution

+ + + + +
1

a2

1

b2

1

c2

1

a'2

1

b'2

1

c'2

− − + − −
1

a2

1

b2

1

c2

1

a'2

1

b'2

1

c'2

+ + − − −
1

a2

1

b2

1

c2

1

a'2

1

b'2

1

c'2

+ + + + +
1

a2

1

b2

1

c2

1

a'2

1

b'2

1

c'2

59. The lines :  and 

 are co-planar if :

= =
x − 2

1

y − 3

1
z − 4

−k

= =
x − 1

k

y − 4

2

z − 5

1

https://dl.doubtnut.com/l/_5zjPvgOQhjNw
https://dl.doubtnut.com/l/_MDQclYaAf3u1


A. k=1 or -1

B. k=0 or -3

C. k=3 or -3

D. k=0 or -1

Answer: B

Watch Video Solution

60. A tetrahedron has vertices O (0, 0, 0), A (1,

2, 1), B (2, 1, 3) and C(-1, 1, 2). The angle between

the faces OAB and ABC will be:

https://dl.doubtnut.com/l/_MDQclYaAf3u1
https://dl.doubtnut.com/l/_SvAqyCpcD48Y


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos − 1( )
17
31

30∘

90∘

cos − 1( )
19

35

61. If the straight line, x =1 + s, y = 3- s, z = 1+ 

s and , with

λ λ

x = , y = 1 + t, z = 2 − t
t

2

https://dl.doubtnut.com/l/_SvAqyCpcD48Y
https://dl.doubtnut.com/l/_RQ8zO3DIhHLf


parameters s and t and respectively, are

coplanar, then  equals:

A. 

B. 

C. 

D. 0

Answer: A

Watch Video Solution

λ

−2

−1

−
1

2

https://dl.doubtnut.com/l/_RQ8zO3DIhHLf


62. Lines  and 

 intersects , then k

equals :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
x − 1

2

y + 1

3

z − 1

4

= =
x − 3

1

y − k

1
z

1

3

2

9

2

−2

9

−3

2

https://dl.doubtnut.com/l/_RyHzItWKpktK


63. If the angle  between the

 and the plane 

 is such that sin 

 , the value of  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

θ

= =
x + 1

1

y − 1

2

z − 2

2

2x − y + √λz + 4 = 0

θ =
1

3
λ

−3

5

5

3

−4
3

3

4

https://dl.doubtnut.com/l/_eght4pFLwwDu


64. A variable plane at a distance of 1 unit from

the origin cuts the coordinate axes at A,B and

C satisfies the relation ,

then the value of k is :

A. 3

B. 1

C. 

D. 9

+ + = k
1

x2

1

y2

1

z2

1

3

https://dl.doubtnut.com/l/_eght4pFLwwDu
https://dl.doubtnut.com/l/_NWjSMMSOuvst


Answer: D

Watch Video Solution

65. The image of the point (- 1, 3, 4) in the

plane: 

x-2y=0 is:

A. 

B. (15,11,4)

C. 

D. 

( − , − , 4)
17
3

19

3

( − , − , 1)
17
3

19

3

( , − , 4)
9

5

13

5

https://dl.doubtnut.com/l/_NWjSMMSOuvst
https://dl.doubtnut.com/l/_YbCUqsHDZasW


Answer: D

Watch Video Solution

66. If the straight lines: 

 and 

 intersect at a

point, then the integer k is equal to :

A. 

B. 

C. 5

= =
x − 1

k

y − 2

2

z − 3

3

= =
x − 2

3

y − 3

k

z − 1

2

−2

−5

https://dl.doubtnut.com/l/_YbCUqsHDZasW
https://dl.doubtnut.com/l/_w1mZCSl5AHNZ


D. 2

Answer: B

Watch Video Solution

67. Let the line  lie

in the plane . Then 

 equals :

A. (6,-17)

B. (-6,7)

= =
x − 2

3

y − 1

−5

z + 2

2

x + 3y − αz + β = 0

(α, β)

https://dl.doubtnut.com/l/_w1mZCSl5AHNZ
https://dl.doubtnut.com/l/_4rILFxXkXLHO


C. (5,-15)

D. (-5,5)

Answer: B

Watch Video Solution

68. If a line makes an angle of  with the

positive direction of each of x-axis and y-axis,

then the angle that the line makes with the

positive direction of the z-axis is :

π

4

https://dl.doubtnut.com/l/_4rILFxXkXLHO
https://dl.doubtnut.com/l/_OTwJv7GVRReL


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

π

3

π

4

π

2

π

6

69. The line passing through the points

 and  crosses the yz-plane at(5, 1, a) (3, b, 1)

https://dl.doubtnut.com/l/_OTwJv7GVRReL
https://dl.doubtnut.com/l/_IfDAoENBlUTh


the point .Then

A. a=8,b=2

B. a=2,b=8

C. a=4,b=6

D. a=6,b=4

Answer: D

Watch Video Solution

(0, , )
17
2

−13

2

https://dl.doubtnut.com/l/_IfDAoENBlUTh


70. A line with positive direction cosines

passes through the point P (2, - 1, 2) and makes

equal angles with the coordinate axes. The line

meets the plane 2x + y + z = 9 at point Q. The

length of the line segment PQ equals:

A. 1

B. 

C. 

D. 2

Answer: C

√2

√3

https://dl.doubtnut.com/l/_19b5QyFonp3K


Aieee Jee Examination

Watch Video Solution

1. A line AB in three-dimensional space makes

angles  and  with the positive x-axis

and the positive y-axis respectively. If AB makes

an acute angle  with the positive z-axis, then

 equals :

A. 

B. 

45∘ 120∘

θ

θ

30∘

45∘

https://dl.doubtnut.com/l/_19b5QyFonp3K
https://dl.doubtnut.com/l/_m6NxNuZcthf7


C. 

D. 

Answer: C

Watch Video Solution

60∘

75∘

2. Equation of the plane containing the

straight line  and perpendicular

to the plane containing the straight lines

 and  is :

= =
x

2

y

3
z

4

= =
x

3

y

4
z

2
= =

x

4

y

2
z

3

https://dl.doubtnut.com/l/_m6NxNuZcthf7
https://dl.doubtnut.com/l/_keN974D8s8eW


A. x+2y-2z=0

B. 3x+2y-2z=0

C. x-2y+z=0

D. 5x+2y-4z=0

Answer: C

Watch Video Solution

3. If the distance of the point P (1,-2, 1) from

the plane x + 2y - 2z =  where  > 0, is 5, thenα α

https://dl.doubtnut.com/l/_keN974D8s8eW
https://dl.doubtnut.com/l/_93qNP6xXkln3


the foot of the perpendicular from P to the

plane is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( , , − )
8

3
4
3

7
3

( , − , )
4
3

4
3

1

3

( , , )
1

3

2

3

10

3

( , − , )
2

3

1

3

5

2

https://dl.doubtnut.com/l/_93qNP6xXkln3


4. If the angle between the line

 and the plane

x+2y+3z=4 is , then  equals :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x = =
y − 1

2

z − 3

λ

cos − 1(√ )
5

14
λ

2

3

3
2

2

5

5

3

https://dl.doubtnut.com/l/_IJpPuW7iJ4rr


5. The length of the perpendicular drawn from

the point  to the line 

 is (A)  (B)  (C) 

 (D) 

A. 

B. 

C. 

D. 

Answer: C

(3, − 1, 11)

= =
x

2

y − 2

3

z − 3

4
√33 √53

√66 √29

√29

√33

√53

√65

https://dl.doubtnut.com/l/_BC10rlKPIZwb


Watch Video Solution

6. The distance of the point  from

the plane  measured along a

straighat line  is (A)  (B) 

(C)  (D) 

A. 

B. 

C. 

D. 

(1, − 5, 9)

x − y + z = 5

x = y = z 5√3 3√10

3√5 10√3

10√3

5√3

3√10

3√5

https://dl.doubtnut.com/l/_BC10rlKPIZwb
https://dl.doubtnut.com/l/_ibPCsF43SEQg


Answer: A

Watch Video Solution

7. If the lines : 

 and 

 intersect , then k is

equal to :

A. 

B. 

C. 

= =
x − 1

2

y + 1

3

z − 1

4

= =
x − 3

1

y − k

2
z

1

−1

2

9

9

2

https://dl.doubtnut.com/l/_ibPCsF43SEQg
https://dl.doubtnut.com/l/_eSdGUr1I3B8K


D. 0

Answer: C

Watch Video Solution

8. An equation of a plane parallel to the plane

x - 2y + 2z -5 = 0 and at a unit distance from

the origin is :

A. x-2y+2z-3=0

B. x-2y+2z+1=0

https://dl.doubtnut.com/l/_eSdGUr1I3B8K
https://dl.doubtnut.com/l/_c91htuojQIPN


C. x-2y+2z-1=0

D. x-2y+2z+5=0

Answer: A

Watch Video Solution

9. The equation of a plane passing through

the line of intersection of the planes: x + 2y +

3z = 2 and x- y + z = 3 at a distance  from

the point (3,1,-1) is :

2

√3

https://dl.doubtnut.com/l/_c91htuojQIPN
https://dl.doubtnut.com/l/_jdUSK3kGeW2Z


A. 

B. 

C. x+y+z=

D. 

Answer: A

Watch Video Solution

5x − 11y + z = 17

√2x + y = 3√2 − 1

√3

x − √2y = 1 − √2

10. The point P is the intersection of the

straight line joining the points Q (2, 3, 5) and R

(1, - 1, 4) with the plane 5x - 4y - z = 1. If S is the

https://dl.doubtnut.com/l/_jdUSK3kGeW2Z
https://dl.doubtnut.com/l/_m92rjDOtgc41


foot of the perpendicular drawn from the

point T (2, 1, 4) to QR, then the length of the

line segment PS is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

√2

√2

2

2√2

https://dl.doubtnut.com/l/_m92rjDOtgc41
https://dl.doubtnut.com/l/_8xvItFC23RR5


11. Lines  and 

 are coplanar if

A. exactly one value

B. exactly two values

C. exactly three values

D. any value.

Answer: B

Watch Video Solution

= =
x − 2

1

y − 3

1
z − 4
−K

= =
x − 1

K

y − 4

2

z − 5

1

https://dl.doubtnut.com/l/_8xvItFC23RR5


12. Distance between two parallel planes: 2x +

y + 2z = 8 and 4x + 2y + 4z +5=0 is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5

2

7
2

9

2

3

2

https://dl.doubtnut.com/l/_U1RwpYqvXAVt
https://dl.doubtnut.com/l/_PWa1sANtRo91


13. The image of the line

 in the plane : 2x-

y+z+3=0 is the line :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

= =
x − 1

3

y − 3

1
z − 4
−5

= =
x + 3

−3

y − 5

−1

z + 2

5

= =
x − 3

3

y + 5

1

z − 2

−5

= =
x − 3

−3

y + 5

−1

z − 2

5

= =
x + 3

3

y − 5

1

z − 2

−5

https://dl.doubtnut.com/l/_PWa1sANtRo91
https://dl.doubtnut.com/l/_ndOeDXRvsC5N


14. The angle between the lines whose

direction cosines satisfy the equations l+ m +n

=0 and  is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

l2 = m2 + n2

π

4

π

6

π

2

π

3

https://dl.doubtnut.com/l/_ndOeDXRvsC5N


15. The distance of the point (1, 0, 2) from the

point of intersection of the line

 and the plane x-

y+z=16, is :

A. 

B. 

C. 

D. 13

Answer: D

Watch Video Solution

= =
x − 2

3

y + 1

4

z − 2

12

2√14

8

3√21

https://dl.doubtnut.com/l/_RGKt9m9NrT2K


16. The equation of the plane containing the

line: 

2x - 5y + z = 3, x + y + 4z = 5 and parallel to the

plane x + 3y +6z = 1, is :

A. 2x + 6y + 12z= 13

B. x+ 3y + 6z =-7

C. x+ 3y + 6z = 7

D. 2x + y - 12z =- 13.

https://dl.doubtnut.com/l/_RGKt9m9NrT2K
https://dl.doubtnut.com/l/_cyi83mPdxCvc


Recent Competitive Questions Rcqs

Answer: C

Watch Video Solution

1. The distance of the point P(a, b, c) from the

x-axis is

A. 

B. 

C. 

√b2 + c2

√a2 + c2

√a2 + b2

https://dl.doubtnut.com/l/_cyi83mPdxCvc
https://dl.doubtnut.com/l/_ROvAoH5RYTvw


D. a

Answer: A

Watch Video Solution

2. Equation of the plane perpendicular to the

line  and passing through the

point (2, 3, 4) is

A. x + 2y + 3z = 9

B. x + 2y + 3z = 20

= =
x

1

y

2
z

3

https://dl.doubtnut.com/l/_ROvAoH5RYTvw
https://dl.doubtnut.com/l/_cm7C3EKdqOOF


C. 2x+3y+z=17

D. 3x+2y+z=16

Answer: B

Watch Video Solution

3. The line  is

parallel to the plane

A. 3x+4y+5z=7

B. x+y+z=2

= =
x − 2

3

y − 3

4
z − 4

5

https://dl.doubtnut.com/l/_cm7C3EKdqOOF
https://dl.doubtnut.com/l/_oyc7i5YZzfMO


C. 2x+3y+4z=0

D. 2x+y-2z=0

Answer: D

Watch Video Solution

4. The angle between two diagonals of a cube

is

A. 

B. 

30∘

45∘

https://dl.doubtnut.com/l/_oyc7i5YZzfMO
https://dl.doubtnut.com/l/_zcisaP4GOfkI


C. 

D. 

Answer: C

Watch Video Solution

cos − 1( )
1

3

cos − 1( )
1

√3

5. Lines  and 

 are coplanar if

A. K=0

B. K=-1

= =
x − 2

1

y − 3

1
z − 4
−K

= =
x − 1

K

y − 4

2

z − 5

1

https://dl.doubtnut.com/l/_zcisaP4GOfkI
https://dl.doubtnut.com/l/_cAe8HJld3FqC


C. K=2

D. K=3

Answer: A

Watch Video Solution

6. Equation of line passing through the point

(2,3,1) and parallel to the line of intersection of

the plane

 isx − 2y − z + 5 = 0 and x + y + 3z = 6

https://dl.doubtnut.com/l/_cAe8HJld3FqC
https://dl.doubtnut.com/l/_XE0nsPyB5U5O


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
x − 2

5

y − 3

−4

z − 1

3

= =
x − 2

−5

y − 3

−4

z − 1

3

= =
x − 2

5

y − 3

4

z − 1

3

= =
x − 2

4

y − 3

3

z − 1

2

7. Foot of perpendicular drawn from the origin

to the plane  is ______2x − 3y + 4z = 29

https://dl.doubtnut.com/l/_XE0nsPyB5U5O
https://dl.doubtnut.com/l/_7ANFWUO72Eo6


A. (5,-1,4)

B. (2,-3,4)

C. (7,-1,3)

D. (5,-2,3)

Answer: B

Watch Video Solution

8. The direction-ratios of the line, which is

perpendicular to the lines: 

https://dl.doubtnut.com/l/_7ANFWUO72Eo6
https://dl.doubtnut.com/l/_OO1Lnt8x1kgn


 and 

 are :

A.  4 , 5, 7 gt

B.  4, -5 , 7 gt

C. 

D. 

Answer: A

Watch Video Solution

= =
x − 7

2

y + 17

−3

z − 6

1

= =
x + 5

1

y + 3

2
z − 4
−2

<

<

< 4, − 5, − 7 >

< − 4, 5, 7 >

https://dl.doubtnut.com/l/_OO1Lnt8x1kgn


9. A line making angles  and  with the

positive direction of the axis of x and y makes

with the positive direction of z-axis, and angle

of

A. 

B. 

C.  and 

D. None of these

Answer: C

Watch Video Solution

45∘ 60∘

60∘

120∘

60∘ 120∘

https://dl.doubtnut.com/l/_DxNoVLwBWna0


Watch Video Solution

10. The shortest distance between the lines : 

 and 

 is :

A. 

B. 

C. 

D. 

Answer: D

= =
x − 3

3

y − 8

−1

z − 3

1

= =
x + 3

−3

y + 7

2

z − 6

4

√30

2√30

5√30

3√30

https://dl.doubtnut.com/l/_DxNoVLwBWna0
https://dl.doubtnut.com/l/_13qAqgaQNKKV


Watch Video Solution

https://dl.doubtnut.com/l/_13qAqgaQNKKV

